BUTTON SOCKET SCREWS 5/16 x 1-1/2

SPLIT LOCK WASHER 5/16

FLAT WASHER 5/16

1. PLACE THE COVER AND BASE ON A FLAT SURFACE AS SHOWN IN THE PICTURE.

2. ALIGN THE BASE WITH THE HOLES AND INSERT THE SCREWS AS SHOWN IN THE PICTURA "A"
3. USE THE LEVELERS TO STABILIZE THE DINING ROOM BASE

4. WITH HELP, TURN THE TABLE 180°

‘ﬂ ASSEMBLING INSTRUCTIONS
@ I-RNDTP-E003

DESCRIPTION #
SOCKET BUTTOM HEAD 5/16 X 1-1/2" 4
FLAT WASHER 5/16 4
LOCK WASHER 4

1

ALLEN KEY 3/16




